

A STUDY ON ABSOLUTE SUMMABILITY FACTORS FOR A TRIANGULAR MATRIX

EKREM SAVAŞ

(communicated by J. Marshal Ash)

Abstract. In this paper we obtain an absolute summability factor theorem for lower triangular matrices.

Sulaiman [2] obtained sufficient conditions for $\sum a_n \lambda_n$ to be $|\overline{N}, p_n|_k$ summable, $k \in \mathbb{N}$. Unfortunately he used an incorrect definition of absolute summability (see, e.g., [1]). In this paper we obtain the corresponding summability factor theorem for a lower triangular matrix, and obtain the correct form of [2] as a special case. Let A be a lower triangular matrix, $\{s_n\}$ a sequence. Then we put

$$A_n := \sum_{v=0}^n a_{nv} s_v.$$

A series $\sum a_n$ is said to be $|A|_k$ summable, $k \in \mathbb{N}$ if

$$\sum_{n=1}^{\infty} n^{k-1} |A_n - A_{n-1}|^k < \infty. \quad (1)$$

We may associate with A two lower triangular matrices \overline{A} and \hat{A} defined as follows:

$$\overline{a}_{nv} = \sum_{r=v}^n a_{nr}, \quad n, v \in \mathbb{N}_0$$

and

$$\hat{a}_{nv} = \overline{a}_{nv} - \overline{a}_{n-1,v}, \quad n = 1, 2, 3, \dots$$

Also we shall define

$$\begin{aligned} y_n &:= \sum_{i=0}^n a_{ni} s_i = \sum_{i=0}^n a_{ni} \sum_{v=0}^i \lambda_v a_v \\ &= \sum_{v=0}^n \lambda_v a_v \sum_{i=v}^n a_{ni} = \sum_{v=0}^n \overline{a}_{nv} \lambda_v a_v \end{aligned}$$

Mathematics subject classification (2000): 40F05, 40D25.

Keywords and phrases: Absolute summability, summability factors.

and

$$Y_n := y_n - y_{n-1} = \sum_{v=0}^n (\bar{a}_{nv} - \bar{a}_{n-1,v}) \lambda_v a_v = \sum_{v=0}^n \hat{a}_{nv} \lambda_v a_v. \tag{2}$$

Given any sequence $\{x_n\}$, the notation $x_n \asymp O(1)$ means $x_n = O(1)$ and $1/x_n = O(1)$. For any matrix entry a_{nv} , $\Delta_v a_{nv} := a_{nv} - a_{n,v+1}$.

THEOREM 1. *Let A be a lower triangular matrix with nonnegative entries such that*

- (i) $\bar{a}_{n0} = 1, n = 0, 1, \dots$,
- (ii) $a_{n-1,v} \geq a_{nv}$ for $n \geq v + 1$,
- (iii) $na_{nn} \asymp O(1)$, and
- (iv) $\sum_{v=1}^{n-1} a_{vv} |\hat{a}_{n,v+1}| = O(a_{nn})$.

Let t_n^1 denote the n th $(C, 1)$ mean of $\{na_n\}$. If

- (v) $\sum_{v=1}^{\infty} a_{vv} |\lambda_v|^k |t_v^1|^k = O(1)$,
- (vi) $\sum_{v=1}^{\infty} |a_{vv}|^{1-k} |\Delta \lambda_v|^k |t_v^1|^k = O(1)$,

then the series $\sum a_n \lambda_n$ is $|A|_k$ summable, $k \in \mathbb{N}$.

Proof. From (i) it follows that $\hat{a}_{n,0} = 0$.

Using (2) we may write

$$\begin{aligned} Y_n &= \sum_{v=1}^n \left(\frac{\hat{a}_{nv} \lambda_v}{v} \right) v a_v \\ &= \sum_{v=1}^n \left(\frac{\hat{a}_{nv} \lambda_v}{v} \right) \left[\sum_{r=1}^v r a_r - \sum_{r=1}^{v-1} r a_r \right] \\ &= \sum_{v=1}^{n-1} \Delta_v \left(\frac{\hat{a}_{nv} \lambda_v}{v} \right) \sum_{r=1}^v r a_r + \frac{\hat{a}_{nn} \lambda_n}{n} \sum_{v=1}^n v a_v \\ &= \sum_{v=1}^{n-1} (\Delta_v \hat{a}_{nv}) \lambda_v \frac{v+1}{v} t_v^1 + \sum_{v=1}^{n-1} \hat{a}_{n,v+1} (\Delta \lambda_v) \frac{v+1}{v} t_v^1 \\ &\quad + \sum_{v=1}^{n-1} \hat{a}_{n,v+1} \lambda_{v+1} \frac{1}{v} t_v^1 + \frac{(n+1) a_{nn} \lambda_n t_n^1}{n} \\ &= T_{n1} + T_{n2} + T_{n3} + T_{n4}, \quad \text{say.} \end{aligned}$$

To prove the theorem it will be sufficient, by Minkowski’s inequality, to show that

$$\sum_{n=1}^{\infty} n^{k-1} |T_{nr}|^k < \infty, \quad \text{for } r = 1, 2, 3, 4.$$

Using Hölder's inequality and (iii) and (v),

$$\begin{aligned}
 I_1 &:= \sum_{n=1}^m n^{k-1} |T_{n1}|^k = \sum_{n=1}^m n^{k-1} \left| \sum_{v=1}^{n-1} \Delta_v \hat{a}_{nv} \lambda_v \frac{v+1}{v} t_v^1 \right|^k \\
 &= O(1) \sum_{n=1}^{m+1} n^{k-1} \left(\sum_{v=1}^{n-1} |\Delta_v \hat{a}_{nv}| |\lambda_v| |t_v^1| \right)^k \\
 &= O(1) \sum_{n=1}^{m+1} n^{k-1} \left(\sum_{v=1}^{n-1} |\Delta_v \hat{a}_{nv}| |\lambda_v|^k |t_v^1|^k \right) \times \left(\sum_{v=1}^{n-1} |\Delta_v \hat{a}_{nv}| \right)^{k-1}.
 \end{aligned}$$

From (ii)

$$\begin{aligned}
 \Delta_v \hat{a}_{nv} &= \hat{a}_{nv} - \hat{a}_{n,v+1} \\
 &= \bar{a}_{nv} - \bar{a}_{n-1,v} - \bar{a}_{n,v+1} + \bar{a}_{n-1,v+1} \\
 &= a_{nv} - a_{n-1,v} \leq 0.
 \end{aligned}$$

Thus from (i)

$$\sum_{v=0}^{n-1} |\Delta_v \hat{a}_{nv}| = \sum_{v=0}^{n-1} (a_{n-1,v} - a_{nv}) = 1 - 1 + a_{nn} = a_{nn}.$$

Using (iii) and (v)

$$\begin{aligned}
 I_1 &:= \sum_{n=1}^m n^{k-1} |T_{n1}|^k = O(1) \sum_{n=1}^{m+1} (na_{nn})^{k-1} \sum_{v=1}^{n-1} |\lambda_v|^k |t_v^1|^k |\Delta_v \hat{a}_{nv}| \\
 &= O(1) \sum_{v=1}^m |\lambda_v|^k |t_v^1|^k \sum_{n=v+1}^{m+1} (na_{nn})^{k-1} |\Delta_v \hat{a}_{nv}| \\
 &= O(1) \sum_{v=1}^m |\lambda_v|^k |t_v^1|^k \sum_{n=v+1}^{m+1} |\Delta_v \hat{a}_{nv}| \\
 &= O(1) \sum_{v=1}^m a_{vv} |\lambda_v|^k |t_v^1|^k \\
 &= O(1).
 \end{aligned}$$

Using Hölder's inequality, (iii) and (iv),

$$\begin{aligned}
 I_2 &:= \sum_{n=2}^{m+1} n^{k-1} |T_{n2}|^k = \sum_{n=2}^{m+1} n^{k-1} \left| \sum_{v=1}^{n-1} \hat{a}_{n,v+1} (\Delta \lambda_v) \frac{v+1}{v} t_v^1 \right|^k \\
 &\leq \sum_{n=2}^{m+1} n^{k-1} \left[\sum_{v=1}^{n-1} \hat{a}_{n,v+1} |\Delta \lambda_v| \frac{v+1}{v} |t_v^1| \right]^k
 \end{aligned}$$

$$\begin{aligned}
 &= O(1) \sum_{n=2}^{m+1} n^{k-1} \left[\sum_{v=1}^{n-1} |\Delta\lambda_v| |t_v^1| |\hat{a}_{n,v+1}| \right]^k \\
 &= O(1) \sum_{n=2}^{m+1} n^{k-1} \left[\sum_{v=1}^{n-1} |\Delta\lambda_v|^k |t_v^1|^k |a_{vv}|^{1-k} |\hat{a}_{n,v+1}| \right] \times \left[\sum_{v=1}^{n-1} |a_{vv}| |\hat{a}_{n,v+1}| \right]^{k-1} \\
 &= O(1) \sum_{n=2}^{m+1} (na_{nn})^{k-1} \sum_{v=1}^{n-1} |a_{vv}|^{1-k} |\Delta\lambda_v|^k |t_v^1|^k |\hat{a}_{n,v+1}|.
 \end{aligned}$$

Using (iii)

$$\begin{aligned}
 I_2 &= O(1) \sum_{v=1}^m |a_{vv}|^{1-k} |\Delta\lambda_v|^k |t_v^1|^k \sum_{n=v+1}^{m+1} (na_{nn})^{k-1} \hat{a}_{n,v+1} \\
 &= O(1) \sum_{v=1}^m |a_{vv}|^{1-k} |\Delta\lambda_v|^k |t_v^1|^k \sum_{n=v+1}^{m+1} \hat{a}_{n,v+1}.
 \end{aligned}$$

From the definition of \hat{A} and using (i) and (ii);

$$\begin{aligned}
 \hat{a}_{n,v+1} &= \bar{a}_{n,v+1} - \bar{a}_{n-1,v+1} \\
 &= \sum_{i=v+1}^n a_{ni} - \sum_{i=v+1}^{n-1} a_{n-1,i} \\
 &= 1 - \sum_{i=0}^v a_{ni} - 1 + \sum_{i=0}^v a_{n-1,i} \\
 &= \sum_{i=0}^v (a_{n-1,i} - a_{ni}) \geq 0.
 \end{aligned} \tag{3}$$

From (3)

$$\begin{aligned}
 \sum_{n=v+1}^{m+1} \left(\sum_{i=0}^v (a_{n-1,i} - a_{ni}) \right) &= \sum_{i=0}^v \sum_{n=v+1}^{m+1} (a_{n-1,i} - a_{ni}) \\
 &= \sum_{i=0}^v (a_{v,i} - a_{m+1,i}) \\
 &\leq \sum_{i=0}^v a_{v,i} = 1.
 \end{aligned} \tag{4}$$

Therefore, using (vi), $I_2 = O(1)$.

Using Hölder’s inequality, (iii), (iv) and (v)

$$\begin{aligned}
 \sum_{n=2}^{m+1} n^{k-1} |T_{n3}|^k &= \sum_{n=2}^{m+1} n^{k-1} \left| \sum_{v=1}^{n-1} \frac{\hat{a}_{n,v+1} \lambda_{v+1}}{v} t_v^1 \right|^k \\
 &= O(1) \sum_{n=2}^{m+1} n^{k-1} \left[\sum_{v=1}^{n-1} |a_{vv}| |\lambda_{v+1}| |\hat{a}_{n,v+1}| |t_v^1| \right]^k
 \end{aligned}$$

$$\begin{aligned}
 &= O(1) \sum_{n=2}^{m+1} n^{k-1} \left[\sum_{v=1}^{n-1} |\lambda_{v+1}|^k |a_{vv}| |t_v^1|^k |\hat{a}_{n,v+1}| \right] \times \left[\sum_{v=1}^{n-1} |a_{vv}| |\hat{a}_{n,v+1}| \right]^{k-1} \\
 &= O(1) \sum_{n=2}^{m+1} (na_{nn})^{k-1} \sum_{v=1}^{n-1} |\lambda_{v+1}|^k |a_{vv}| |t_v^1|^k |\hat{a}_{n,v+1}| \\
 &= O(1) \sum_{v=1}^m |\lambda_{v+1}|^k |a_{vv}| |t_v^1|^k \sum_{n=v+1}^{m+1} \hat{a}_{n,v+1} \\
 &= O(1) \sum_{v=1}^m a_{vv} |\lambda_{v+1}|^k |t_v^1|^k \\
 &= O(1).
 \end{aligned}$$

Finally using (iii) and (v)

$$\begin{aligned}
 \sum_{n=1}^m n^{k-1} |T_{n4}|^k &= \sum_{n=1}^m n^{k-1} \left| \frac{(n+1)a_{nn}\lambda_n t_n^1}{n} \right|^k \\
 &= O(1) \sum_{n=1}^m n^{k-1} |a_{nn}|^k |\lambda_n|^k |t_n^1|^k \\
 &= O(1) \sum_{n=1}^m (na_{nn})^{k-1} a_{nn} |\lambda_n|^k |t_n^1|^k \\
 &= O(1) \sum_{n=1}^m a_{nn} |\lambda_n|^k |t_n^1|^k \\
 &= O(1).
 \end{aligned}$$

□

COROLLARY 1. Let $\{p_n\}$ be a positive sequence such that

$P_n := \sum_{k=0}^n p_k \rightarrow \infty$, and satisfies

(i) $np_n \asymp O(P_n)$.

Let t_n^1 denote the n th $(C, 1)$ mean of $\{na_n\}$. If

(ii) $\sum_{v=1}^{\infty} v^{-1} |\lambda_v|^k |t_v^1|^k = O(1)$,

(iii) $\sum_{v=1}^{\infty} v^{k-1} |\Delta \lambda_v|^k |t_v^1|^k = O(1)$, then the series $\sum a_n \lambda_n$ is $|\bar{N}, p_n|_k$ summable, $k \in \mathbb{N}$.

Proof. Conditions (i), (ii) and (iv) of Theorem 1 are automatically satisfied for any weighted mean method. Condition (iii) of Theorem 1 becomes condition (i) of Corollary 1. Conditions (v) and (vi) of Theorem 1 become conditions (ii) and (iii) of Corollary 1. □

REFERENCES

- [1] B. E. RHOADES, *Inclusion theorems for absolute matrix summability methods*, J. Math. Anal. Appl. **238**(1999), 82–90.
- [2] W. T. SULAIMAN, *A study relation between two summability methods*, Proc. American Math. Soc. **115**(1992), 303–312.

(Received August 3, 2007)

Ekrem Savaş
Department of Mathematics
Istanbul Ticaret University
Uskudar, Istanbul-Turkey
e-mail: ekremsavas@yahoo.com